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Q1 was a popular question and generally well answered. In part b (iii),
very few candidates identified that the unstable vector (calculated
in part b (i)) was in the null space of the observability matrix (calculated in part b (ii)).

Q2 was a question on linearization and the plotting of state-space trajectories, and was
generally well answered with a large number of complete or close to complete to answers.
Many candidates gave overly long and general answers to part c) though, missing the fact
that it simply required u to be small for this system.

Q3 was a straightforward question and generally well answered. In part c),
most candidates embarked a long calculation to choose the poles

of the feedback system. Only few candidates observed that stabilising only
the radial position had a straightforward solution.

Q4 was a popular question on root locus, and was matched by a large number of close to
complete answers. The worst answered part was a) - the "single" key principle behind the
construction of a root locus diagram is the angle condition (ie choose an a s and check if it is
a closed loop pole for some k).



